/05/
HOE OE = OF IE — B (ERE) b 000y

2024% ¥ 2B HEEE Z128 E115%E ( 19mE) 3% F—T S GOHHE® =mER (GI) 2400m -k
H ZE T REEEHY 1881

) HEE BHE
5 4 % | B EREEm REEE |INFES BEHEE BEES H =
(FH) (FH)

F—nRvivs Lo 3 ®H#F = 17,000 | G I &EE 57

AREFaISUHY Lan 3 InEE LEA 71,000 | G 1 &85 57

CYRTFAUEDT/ #t 3| W KE ER 124,500 | G I %45 57

ah—o v o 3| W BK AR 36,000 | G I &E% 57
____________ $avFys7ys A 8 W mE kM | 20,000 | G IS BT
B LI IRFT— 1 3| W RE EA 45,000 | G T Z4E% 57

/o FRAaAvH L 3 | BT 24,000 | G I g5 57

LALSLS i d 3 AR Hi 39, 000 55
____________ YYGARRYR e JEEL BB S 38000 T e

Ca—2TAD Lan 3| W R EE 36, 000 57

AL aoanIL %t 3| W A 29, 500 57

) o0TF14I1L H 3| W EZH #FE 24, 500 57

EF¥UFU FU—LA 3| W iKO BE 24, 500 57 FRBEE BB
= 1L~ 17 | 2 OO 0 - 5| JOOO 3|V Mol || 24,000 | ) O e e

HUSAAXTIRUY 3| W EE B 20, 900 57

TUNTH—T—X 3 B BT 20, 000 57

YL/ IEYY oy 3 Eix % 16, 500 57

HoSAXFT—R L 3| W AR O— 16, 000 57

ERA—C—F 44— Lo 3| W RIE FA 16, 000 57




